
0.04524 ÷ 0.0078 = 19.5111 ÷ 2.1 =

0.111925 ÷ 0.0037 = 4.188698 ÷ 6.001 =

41.1933 ÷ 67.53 = 0.22 ÷ 0.044 =

0.00168 ÷ 0.0014 = 7.15312 ÷ 0.247 =

55.4848 ÷ 9.908 = 0.5307 ÷ 6.1 =

0.03234 ÷ 0.049 = 0.062328 ÷ 0.742 =

Instructions: Divide. Show your work.
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0.04524 ÷ 0.0078 = 19.5111 ÷ 2.1 =

5.8 9.291

0.111925 ÷ 0.0037 = 4.188698 ÷ 6.001 =

30.25 0.698

41.1933 ÷ 67.53 = 0.22 ÷ 0.044 =

0.61 5

0.00168 ÷ 0.0014 = 7.15312 ÷ 0.247 =

1.2 28.96

55.4848 ÷ 9.908 = 0.5307 ÷ 6.1 =

5.6 0.087

0.03234 ÷ 0.049 = 0.062328 ÷ 0.742 =

0.66 0.084

Note: Random # of digits and random # of places on this sheet.
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